
.
_ _ _ _ _ _ _ _

.

.~ . .

'

ANDERSON..

GUNSMITHING

July 25, 1986

Donald N. Mackenzie
United States
Nuclear Regulatory Commission
Washington, DC 20555

RE: Control No. 019613
c t,

/! (
DearMr.Mackenzie:g, g

, o

Kf $' \
The above lable/will be attached to the frame under the grips
of each gun. / i|z

'

/ . Ah
Attached is o' co'py of the inst'allation instructions.

\ \\ d' \\%*Sinc ely, Q
f p' 2;w \ \\ fs

d $ >
, ,

DavidAnd'erhbn 7 r' ''' - 1

ANDERSON .GUNSMITif1NG,s'9F'~j , ',
~_N1 b IR-

,.

"*# / \ i ][ b 1- Y -- - --''
v

,

DA/nfd O.';-/ b " ./ 7 % /,

-
> \
m _.J

8610130512 060723
NMSS LIC30
04-23594-01E PDR

2247 S. Ritchey Street * Santa Ana, CA 92705-5320 * (714) 432-7331/432-7332 * (213) 631-8559

. _ _ ,



-___ - - - __ - _ _ - __________ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ .

A *
. .

ANDERSON-
-

-

GUNSMITHING

July 25, 1986

Donald N. Mackenzie
United States
Nuclear Regulatory Commission
Washington, DC 20555

~

RE: Control No. 019613

0Y k'
Dear Mr. Mackenzie:e|/ 'k,

\py
The above labin'vi'll be attached to the frame under the grips
of each gun. ,'/ /-

I"3
.

\

Attached is a/ /copy of the ins [allation instructions.
%T \ \\ C

k\ h. 'j Sinceyely, '['(
\ '' ,o4

y ' [w/s%,
'

.. e
-

s \ Q/ *

/ 0 5 $ N A %- e = x . = + %.7
David A6de,rson/ ,f'

-

.,%p~'7 - 27 ,
-

ANDERSON (GUNSMITHING #
{ {Q fi][T ] }m_-- r--- --- -~'

\ g~m ___..__...__.r
Owner;' \

'

1 b j' ,.,.,-,2
' D) E / ( '$DA/nj

j
-..

}

.

.

2247 S. Ritchey Street * Santa Ana, CA 92705-5320 * (714) 432-7331/432-7332 * (213) 631-8559

___ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ . I



r

a' 1. ; .i i. ,

GUNSMITHING INSTRUCTISNS
'

- -

.

J"
-

TRIJICON INSERTS

T he insert .seembly b a miniaturc glass lamp eontarning pressurized
hydrogen gas and phosphor It is shock mounted in silicone rubber, SPECIAL SITUATIONS
inside an aluminum cylinder with a diameter of as httle as 1/16 of an
inch The sesert is fragile until installed in the sight blade and the S&W. An S&W mth adjustable rear blade may reque a .142 lhi
adhesive has set. bottom drifling to properly fit our replacement blade (in somn cases it

may be larger or smaller than .142). A new screw and out (spnng andAll dalled holes (see specifications on back page) must be "through"
holes OR a hole must be dnlied from the side to vent the hole. This isplunger too if these parts pop out) will afso be required Very sha' low
essentiaH Putting an insert into a blind or unvented hole atmost ramp S&W front blades should be dniled from the muzzle end with
guarantees failure of the insert Also, be sure the dnlled hole is deep the dntt being supported as et breaks out. Front red ramp Ltades are
enough to accommodate the entire length of the insert Under no dnited right through without any problem
circumstances can you inm any aluminum from either end of the

COLT. The front blade on a Colt must be staked before dnfling it Furinsm t.

the rear blade, we are providing about .010 inches of matenal to beAfter dnlling. the hole must be thoroughly cleaned with a strong
solvent like loluene. Wrap a very small piece of kteenex around a thin removed to fit a factory new Cott. If we made the blade to perfect!y fit

a new Colt, it would be too loose on ofder guns where the doveta,1toothpick and swab the hole several times with toluene. Wipe away
excess toluene and allow to air dry for five minutes. At this point has been widened Our Cott rear blade is .325 inches high and

equals the height of the Cott Officers model. A correspondingfysome cold blue cartte apphed to the area of the hole that will not be
higher front is needed, usually .180 high, but can vary depending oncovered by the insert Allow the cold blued surface to air dry for about

10 minutes and then clean up again with toluene. the ammo and bbilength being used. Onll the hole (cr a D insert at
.065 below the top of the finished height of the tront

The inserts are clean as supplied. They must not be immersed in
strong solvents lilie totuene. It will swe!t the silicone rubber which OTHER FIXED StGHT AUTOMATICS. See note above referring to fitcrushes the glass capsule and the lamp will o out in a matter of days of rear bfade on Coll.

" ' " "rid w h I luen , t t
BERETTA, The front blade is hard. We find that a carbide dr.Ilis best

Use only Loctite Black Max as adhesive. This is a cyanoacry' tc
base super glue type of adhesive. It is availabio from us af you Cannot foi '

the o o th c nter ne f the ho e -

locate an industnat source near you. Do not expenment with other |
adhesives as we tjave already done so without success Use a hyp* STEYR GB. The Steyr GB hole follows the 6 degree sicpe of the front
dormic size plastic nozzle ( 035" OD, .01P ID Loctite #999310) with blade, centerline .072 below the top.
the bottle of Black Max. Insert the tip of the plastic hypo into the
dulled hole and ently squeeze out a small drop about 1/16 inch StG. Our SIG rear blade is .235 inches high. Be aware of a possible
diameter to just til the hole from the top and down about 1/16 inch. variance in the height measurernent of your SIG.
Ezcess causes too much cleanup af terwards Grip the insert from /

the sapphire end with a pair of tweezers and apply a small bead of H&K P-7. The standard plastic inserta must first be removed. If they
Black Max to the other end, just wetting the end and back about 1/16 do not come out easily by sticking the sharp point of an Xacto)tnife
inch. Push the insett into the hole with a smooth motion, and use a into them and prying them out, then dd the following: Heat the end of '

clean toolhpick te seat it flush with the outer surface of the sight. a paper clip or pen with a match f!ame for a few seconds, push into
Remember, the Black Max sets up in a few seconds, after which the plastic and allow to cool. Then pull out the pin mth the plastic
there is no repositioning. Use Loctite X NMS clean up solvent if you insert. Take a #49 dnit and use it with the fingers to scrape the old
get any Black Max on the sapphire. Allow the inserts to set ovemight. glue out of the hole until it comes dean. Before gluing, wu must
A gun with Tnpcon inserts installed MUST NOT be soaked or immersed check that the hole is deep enough for the insert. A few P 7 have
in solvents for e eaning. It can be cleaned with powder solvents and been found with incomplete holes. If necessary, dnll hole to proper
wiped ott without causing a problem. Light gun cilis also not a problern. depth. Clean the hole with toluene as abJve. All H&K P-7 have vent

holes dn!!ed from below.

Label prov!ded with Inseris must, by law, De affixed
to your gun-usually inside grip or frame.

_



. - -
_

. . . -
, , .I t. i

.
,

'

EUNSMITHIN3 INSTRUCTIENS:'- -.

I'

TRJJICON INSERTS
-

I

The insert usembly is a miniature gtass iamp containing pressurized
hydrogen gas and phosphor. It is shock mounted in silicone rubber, SPECIAL SITUATIONS
inside an aluminum cylinder with a diameter of as little as 1/16 of an
inch. The ir, sert is fragile until installed in the sight blade and the S&W. An S&W with adjustable rear blade may require a .142 flat
adhesive has set. bottom drilling to properly fit our replacement blade (in some cases it

may be larger or smaller than .142). A new screw and nut (spring andAll drilled holes (see specifications on back page) must be "through" plunger too if these parts pop out) will also be required. Very shallow
holes OR a hole must De drilled from the side to vent the hole. This is
essential! Putting an insert into a blind or unvented hole almost ramp S&W front blades should be drilled from the muzzle end with

the drill behg supported as it breaks out. Front red ramp blades are
guarantees failure of the insert. Also, be sure the drilled hole is deep drilled right through without any problem.
enough to accommodate the entire length of the insert. Under no
circumstances can you inm any aluminum from either end of the
esert. COLT. The front blade on a Colt must be staked before drilling it. For

the rear blade, we ce providing about .010 inches of material to be
After drilling. the hole must be thoroughly cleaned with a strong removed to fit a factory new Cott. It we made the blade to per1ectly fitsolvent like toluene. Wrap a very small piece of kleenex around a thin a new Colt, it would be too loose on older guns where the dovetail
toothpa and swab the hole several tirnes with toluene. Wipe away has been widened. Our Colt rear blade is .325 inches high andexcess toluene and allow to air dry for five minutes. At this point equals the height of the Colt Officers model. A correspondingly ,some cold blue cartte applied to the area of the hole that will not be higher front is needed, usually .180 high, but can vary dependmg oncovered by the insert. Allow the cold blued surface to air dry for about the ammo and bbi length being used. Drill the hole for a D insert at10 minutes and then clean up again with toluene. .065 below the top of the finished height of the front.
The inserts are clean as sup
strong solvents like toluene. plied. They must not be immersed in

It wi!! swell the silicone rubber which OTHER FIXED SIGHT AUTOMATICS. See note above referring to fit
crushes the glass capsule and the lamp will go out in a matter of days of rear bfade on Colt. -
or weeks. If you get oil on the insert, wipe the outside with a tissue
moistened with toluene, not wet.

BERETTA. The front blade is hard. We find that a carbide drillis best
Use only Loctite Black Max as adhesive. This is a cyanoacrylate feio

a
' ~

he to o the c nter ne of thebase super glue type of adhesive. It is available from us if you cannot
locate an industnal source near you. Do not experiment with other
adhesives as we l] ave already done so without success. Use a hypo- STEYR GB. The Steyr GB hole follows the 6 degree slope of the front
dermic size plastic nozzle (.035" CD, .017"ID Loctite # 999310) with blade, centerline .072 below the top.
the bottle of Black Max. Insert the tip of the plastic hypo into the
drilled hole ently squeeze out a small drop about 1/16 inch SIG. Our SIG rear blade is .235 inches high. Be aware of a possible
diameter to j,andust fi t the hole from the top and down about 1/16 inch.variance in the height measurement of your SIG. /
Excess causes too much cleanup afterwards. Grip the insert from
the sapphire end with a pair of tweezers and apply a small bead of H&K P-7. The standard plastic inserts must first be removed. If they
Black Max to the other end, just wetting the end and back about 1/16 do not come out easily by sticking the sharp point of an Xacto Anife
inch. Push the insert into the hole with a smooth motion, and use a into them and prying them out, then d6 the following: Heat the end of
clean toothpick to seat it flush with the outer surface of the sight. a paper cl:p or pin with a rnatch flame for a few seconds, push into
Remember, the Black Max sets up in a f9w seconds, after which the plastic and allow to cool Then pull out the pin with the plastic
there is no repositioning. Use Loctite X-NMS clean up solvent if you insert. Take a #49 drill and use it with the fingers to scrape the old
get any Black Max on the sapphire. Allow the inserts to set ovemight. glue out of the hole until it comes clean. Before gluing, you must

check that the hole is deep enough for the insert. A few P-7 haveA gun with Trijicon inserts installed MUST NOT be soaked or immersed been found with incomplete holes. If necessary, drill hole to properin solvents for cleaning. It can be cleaned with powder solvents and depth. Clean the hole with toluene as abme. All H&K P-7 have vent
wiped off without causing a problem. Light gun oilis also not a problem. holes drilled from below.

Label provided with Inserts must, by law, be affixed
to your gun-usually inside grip or frame.

_

,

|

t


